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Note :	 This paper is of Eighty (80) marks divided 

into Two (02) sections A and B. Attempt the 

question contained in these sections according 

to the detailed  instructions given therein.

uksV %	 ;g iz'u i=k vLlh (80) vadksa dk gSA tks nks (02) [k.Mksa 

d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, 

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy dhft,A

Section-A/[k.M&^d*
(Long Answer type Questions/nh?kZ mÙkjh; iz'u)

Note :		 Section-‘A’ contains Five (05) long answer  

type questions of Twenty (20) marks each. 

Learners are required to answer any two  

(02) questions only.	 (2×20=40)
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uksV %		 [k.M&^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, chl (20) vad fu/kZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy nks (02) iz'uksa ds 

mÙkj nsus gSaA

1.	 How is residence of assesses determined for 

income tax purpose ? Explain the incidence of 

residence on tax liability.

	 vk;dj ds mís'; ls djnkrkvksa dk fuokl dSls fuèkkZfjr 

fd;k tkrk gS\ fuokl LFkku dk dj nkf;Ro ij iM+us 

okys izHkko dh O;k[;k dhft,A

2.	 Define ‘Annual value’ and state the deductions 

that are allowed from the ‘Annual value’ in 

computing the income from house property.

	 ^ok£"kd ewY;* dks ifjHkkf"kr dhft, vkSj mu dVkSfr;ksa 

dk o.kZu dhft, tks edku lEifÙk ls vk; dh x.kuk 

djus esa ^ok£"kd ewY;* ls LohÑr gksrh gS\

3.	 What are the various types of Capital gains ? 

Explain the difference between Short-term and 

Long-term gains.

	 iw¡th ykHk ds fofHkUu izdkj dkSu&dkSu ls gSa\ vYidkyhu 

,oa nh?kZdkyhu ykHkksa esa vUrj dh O;k[;k dhft,A
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4.	 Mr. X is working in a Company. He received 

following facilities, receipts in the previous 

year :

1. Net Salary (After 

deducting contribution 

and Income tax)

Rs. 4,00,000

Contribution of Mr. X in 

Provident fund

Rs. 70,000

Employer’s contribution 

in Provident fund

Rs. 75,000

Income tax deducted Rs. 30,000
2. Commission on sale @1% 

(Sale Rs. 40 lakh)
3. Salary Advance Rs. 50,000
4. Entertainment allowance Rs. 1,000 per month
5. House Rent Allowance Rs. 6,000 per month
6. He lives in his house. Fire 

rent

Rs. 7,000 per month

7. Amount paid by employer 

on Life Insurance

Rs. 40,000

8. Professional Tax paid in 

Previous year

Rs. 2,000

Compute Mr. X’s taxable income from salary for 

the assessment year 2919-20.
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	 Jh ,Dl ,d dEiuh esa dke djrs gSaA xr o"kZ 2018&19 
esa mUgsa fuEufyf[kr lqfo/k,¡] izkfIr;ka izkIr gqbZ gS%

1. 'kq¼ osru (va'knku ,oa vk;dj 
dks ?kVkus ds i'pkr)

#- 4,00,000

izkfoMsUV iQ.M esa Jh ,Dl 
dk ;ksxnku

#- 70,000

izkfoMsUV iQ.M esa fu;ksDrk dk 
;ksxnku

#- 75,000

vk;dj dkVk x;k #- 30,000
2. foØ; ij deh'ku 1 izfr'kr 

dh nj ls (foØ; #- 40 
yk[k)

3. vfxze osru #- 50,000
4. euksjatu HkÙkk #- 1,000 izfr ekg
5. edku fdjk;k HkÙkk #- 6,000 izfr ekg
6. og vius edku esa jgrk gSA 

mfpr fdjk;k
#- 7,000 izfr ekg

7. thou chek ij fu;ksDrk }kjk 
Hkqxrku dh x;h /ujkf'k 

#- 40,000

8. xr o"kZ esa Hkqxrku fd;k x;k 
is'ksoj dj

#- 2,000

	 Jh ,Dl dh dj fu/kZj.k o"kZ 2019&20 ds fy, osru 
'kh"kZd ds vUrxZr dj ;ksX; vk; dh x.kuk dhft,A
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5.	 Z is the owner of a house. The municipal value 

of the house is Rs. 36,000 and standard rent is  

Rs. 40,000. This house is hired on rent of Rs. 4,000 

per month. He paid the following expenses :

Municipal taxes	 Rs. 7,000

Repairs	 Rs. 2,000

Land revenue	 Rs. 500

Legal expenses for vacating the house	Rs. 5,000

Annual charge	 Rs. 5,000

The house was vacant for two months. Rs. 10,000 

could not be recovered from the tenant. He has 

vacated the house.

Compute his taxable income from house property 

for the assessment year 2019-20.

	 tsM ,d edku dk Lokeh gSA edku dk uxjikfydk 
ewY;kadu 36]000 #- gS rFkk ekud fdjk;k 40]000 #- 
gSA ;g edku 4]000 #- izfr ekg ds fdjk;s ij mBk;k 
x;k gSA mlus fuEu Hkqxrku fd, gS%
uxjikfydk dj	 7]000 #-
ejEer	 2]000 #-
Hkw&jktLo	 500 #-
edku dks [kkyh djkus ds fy, dkuwuh O;;	5]000 #-
ok£"kd Hkkj	 5]000 #-
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;g edku nks ekg [kkyh jgkA fdjk;snkj ls 10]000 #- 

olwy ugha fd;s tk ldsA fdjk;snkj us edku [kkyh dj 

fn;k gSA

dj&fu/kZj.k o"kZ 2019&20 ds fy, mldh edku&lEifÙk 

'kh"kZd dh vk; fudkfy,A

Section-B/[k.M&[k

	 (Short answer type questions/ y?kq mÙkjh; iz'u)

Note : 		 Section-B Contains Eight (08) Short answer 

type questions of Ten (10) marks each. 

Learners are required to answer any four (04) 

questions only.	 (4×10=40)

uksV %		 [k.M&^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, nl (10) vad fu/kZfjr 

gSaA1 f'k{kkfFkZ;ksa dks buesa ls dsoy pkj (04) iz'uksa 

ds mÙkj nsus gSaA	

1.	 Define the agricultural income with examples.

	 Ñf"k vk; dks mnkgj.k lfgr ifjHkkf"kr dhft,A
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2.	 What is meant by Perquisite ? Explain.

	 vuqykHk ls D;k vk'k; gS\ le>kb,A

3.	 Explain various types of Provident Funds.

	 fofHkUu izdkj ds izkfoMsaV iQ.Mksa dh O;k[;k dhft,A

4.	 Explain in detail full exempt Capital gains.

	 iw.kZr;k dj eqDr iw¡th ykHk dh foLr`r O;k[;k dhft,A

5.	 How tax is determined under Limited Liability 

Partnership ? Explain.

	 lhfer nkf;Ro lk>snkjh ds vUrZxr dj fu/kZj.k dSls 

gksrk gS\ O;k[;k dhft,A

6.	 What is Casual Income ? Explain with example.

	 vkdfLed vk; D;k gS\ mnkgj.k lfgr O;k[;k dhft,A

7.	 What are expressly allowed expenditure in the 

head business and profession ? Explain.

	 O;olk; ,oa is'ks 'kh"kZd ds vUrxZr Li"V :i ls 

LohÑr O;; dkSu ls gSa\ O;k[;k dhft,A

P. T. O.
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8.	 What do you understand by Total Income and 

Gross Total Income ? Explain with example. 

	 dqy vk; ,oa ldy dqy ls vki D;k le>rs gSa\ 

mnkgj.k lfgr le>kb,A

*******


